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Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘B’, then he/she should fill up ‘B’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘B’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.

SLRC-2022/P-III/B 1



BERIRE

51 09:55 JHIT HITS LHPITOI e |

OMR €3 “Iq9 IYR JEWU® Wa Te05! e 917 S9TS &miht AR I 76T |

o S5 BfeT 4| TS (@I AT 29 T fToqo 2@ T{! /] T @Y IR
oS i 7R |

o It T SRR SPIR SoR ST I @#1TS Ty T4 A9 fREpTR Teewt 707,
(S8 (SEF TS Jfol [REI0A1 F1 27 |

® Non-Standard OMR I@T® 2(F “_FFIAE Fo@ @ 791 euFiFed Mg sz =B
Tt =far |

o HITRCE WA Ml SHFES /@ET *a© YAR FHa P AR, 2I_IT (DS 217w
FHS P A2 FAIF TS IF TSI OMR TG IF eI Fwes ol
RIS SIS | GRICT! 2[RI oS /e “Iqe fasia 3 JAFe 1903, (SR & (SSTEF
s 31 4f9 @RI Ea |

o A FNT AFEN (9 LAWEAT B4l (rough) FW eXFIFoS i@l sizeE F 1 |
AN 461 (rough) FI TG A1 Al B (FIC! 476 FloIErs I R | T 7o I
@2 Y541 (rough) PN *HIFE T, (SRS T (S0 T&H #[@q Jeie 341 7929 |

o T 2T AT AHIF @ Vg OMR T&T a2 ¥l 27 | G 20 I WF IRIA
SreRE @I $eq oiq il 72’7 |

® ENIFOT TS ¥ OMR Teq ~Ig il 27 | *[=Ifw ¢z 8 OMR Ted 7o
ERJFCT T, LFTOT T, 2G| ARG @ ATl /F 2N -5 I 7 PR
R |

o [SFPIT Y 2 TN HF eWFFoe 100 b & AR ST TS0 &R @ 1.50 THI0P
2 |

o & TG AT (PITA! WM 77 AT |

® IFAIRIR © TR I A FINET OMR TG 2[q® &l /F 3l &1-936 (02 T2
A AN |

o “RrFIFI (OSTEIR ARA To M @ erTire erpRR RO 279, @ PN,
ST, 0T, oM ST RAE! | @2 CFgS ARG A TRFIS @I 4701 s 1 3K
(oIS SRR 2o 3R TRFREDBIR2. 2T Wi Jfe1 9o A |

Important Instruction :

o T faPoe 2l Ttw TTe eFITS $'T TGB! OMR Tes g S 5iz® forat 27 |
TriRgemRC, ATINE 429 I ARNFIFOI TG ‘B’ QifFT OMR e “eq s 512 B
1R =R =i %S I8 ‘B’ (Gf 331 I3 AR | emsiros (1t [pmtie @i s
TR TGP G IF ARHToL Feie A 37 |

o I T GJil FIT WICS 2N FHFT oS OMR TEGF [ FNCS LRFIFOIE
ol v AR | SepRt sfRiEem SpritEs 3 Rt 27 |
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Pl 09:55 B TS a’ &= 1l |

OMR &3 “taq 3L Jebre W Texlh e TR +[tf erifh R 1o 7o |

o P HoTCe APl SR @I AT <A oA Food @ [l K T (=S ARE
ST SRS (TS =T A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
@ I S0 A0 Ko 91 23 |

® T ST OMR @7 “[(ad &) IS e (@ w91 els#itad Wiie 2 =8 3
for® 207 |

o FrFiaE IR e ToIRERs /@I #Ita YAIF FHFA 0o 2, AR Od 2100
FCF P 2429 FAF T R ORI OMR T@d7[@ @3k 2#afb s ol (e
TR | I IR Toifels /@iel #ita A SRR F 1l I, IR0 OIS SlES qE
/e[y T 204 |

o SIS AT G ARG T (rough) TS %08 (ST BT FACS ARE | 2wl
TG (rough) IS TG 1 T (FIF R FI9E FICS AR 1 | AW 27wt @3 270!
(rough) FT& TEIICq FCA, OCF G2 TELIGH TeNR Pl 204 1 |

® 7T TR & AT ¢Fh g OMR Tea7@ e X | G T A WF TR &
SRR (e Teaig (e I A |

® &vItad M b OMR Tea7iq (eq B | *[IIFIE (12 U8 OMR TeReIta ei%tas
T, ePEITR (T TSI AR WY 131 /I IT-A@S o =T 5] FH00 2 |

® <[SFPIF TR 2 I6! €I 2H7itg 100 b &p A 3R TSP AT &) 1.50 757 F¢F A
R |

® o TG T (I YO 7 AP A |

® 5% O (FTF G A OMR TGIGT 1161 /FICE I - @B (7] 2T FACS 2(A |

o AN ST R T TS 2@ @ 2R e GEN ITSIRE 2[ | @- SPIaRl,
e, AT, TR @R TG | @3 CRG TGN ORI (I LIPS T (@0
P B0 BRG] SHANDE LIPS W 03 91T FHCH |

Important Instruction :

o *ArHTy Rce 2ex BT ATS eRetad IS THAG OMR Sed7itad e 2w @4t = |
TrizgerE, AR SR 2ioiad (IS ‘B’ AFE OMR Te320a3 FfiR 2w B’ fordte 2@
3R B 78 ‘B’ T 10N T700 23 | oi0q (I SPTHe (YT ARTid) SRR Raglh e
R R 2Rafh 379 TS 910 |

o ! T Is TR “tf A (NAFCPT TS OMR T@geitas Aozt @ryeiafG e fires
T | & = e SR S I Rt 2@ |
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%1 09:55 famfx Rt sresef Wi frersEt s@aTe |

T ANTYHATE TS Tt gt T Trete St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommremmn mia war @R wan MmN T e AuerEt fawrEn, fegmet 3R gee
TR ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSAM@@ETET MaaT-maf I T8=1 (Roll
No.) S ferems &1 Srrmme T fort 9 |

o formEETERT ARfCHTET BH™ TATAT™ /IR faarsame e gars e 9, fifaame See
T 3riTe @umRTe Wil dEE JEE A AR @ae g e 3T OMR e faersat
TREATET ST S TuTa | SReT AR JenferT /B feersare A wsh amaw 3 gaTs
WA 3T&AT TSI ST BT AT €T €51 SH1E ST |

o fsrrEmn Maft MaE Y@M THT ST rough FERE GiFME faagaad @l g |
feA=@™T rough TEE! TR foeTsaE T oA TEWH @RS SEREl gFE T8 |
foemgama IfE & rough FTETE! WIEH! 376eT T foaTsE! Y™ Q™ STH™ FT |

o TTHE FHEMA U™ e THe” OMR A= faems A wrme | mRf Seen 19
o st st T fererte @ s = |

o T faags @rmE TH OMR ™ faars gm@ sme | femmamn & &1 OMR
ATATE AT - : TR foers =m0 d@m foemst &', et w's smfe safest
e el TS T S-St ot e |

® IHIEH THT 2 U= IR AHM fSelsard 9 100 HifY U= 3T WFhHE! SiAEeE-l e
Tt e 1.50 T YT |

o I fFrafy ara™ Sel g’ R 19 |

o foAERT OMR T foretrsama @fet fier TRl W Seu-siEl et Qi@ 317 Qe
AT |

o 31rare B fift gleenty e marme arfgamn @it @ faemst ey gimer me
Taie SIrTH, SR 3rEHiE, s7ar, U, &< AR 3Ui | o ST Jres sl T BiEeEE s -
51 TET GRS TSI ST SUSTE BIATeHRG@ T H1s BT S5 1 A0 |

Important Instruction :

o foAmrramrn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
e g AR | fafefer anfed femmrmmn g dinr et w5 e B @t fthaam faemef &
ST G e e B o anme o for sgeE e wremHat A |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst ema
i feeTgEian ST gl ARTH | TSTee1 STHWIE gt Tamned fFems THemmE S |
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uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o uhianefi @i frfteres g feu o 3ufefa /Ae 3fic W & IR SR T TR, TEeh 9 e o &
¢ 3R g IR WA gf&qeht 3T OMR IT-94 f{iee i Hiad o &G | 3R foreft aliemelf 4
Iufefa /Ue sffe W e gedter T foharm, @t 3| wdienefi s srufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T 9T weh | wdieeff W
(rough) T IT-9 A7 31 Forell T8 & HITe W & HLFh | I qhienel ST-u9 WHE W
(rough) T AT 2, A T IT-T T JoATeh a1 a1 T |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH €t oo S | Tetdt §H R 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® ¥ If&ieht < T1Y T OMR IW-v3 fean smom | wieneff 39 fifdse OMR IW-93 # ¥
GfEent ., T GFETehT T I 3T HTHT 1 IS ST Torewor FraeTi & shadt el 31 el sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ YT § 100 T & 3TR Jeish I o foIw 1,50 376 i |

® T 3T o foTU whig TehRIceh 3k =1 gnm |

o TR 1 38 T8 T 3R OMR IT-T9 W hael el AT HIAT Sid-Tige 94 § |t FIAC
AT B

o wiieneff 79t glaen o foe e T T T gfcaent w1 Tl Sve Sg-wTfves 8T, S — ST,
e, srel, fawdt 37t 3Tt | 30 ey o wren o weehtor 8 foneft wehr 61 7fe o wmem § srgfaen
B W 37ST IS i & HE W S |

Important Instruction :

o uiignedi 7z gHivaa o & foh 39k g1 W9 YRert &1 g OMR SW-UF § && &1 ¥
T /ST foRan e @ | SeTEwREEy, afe ulenelf fi uv gieae @ @i ‘B’ @, @ OMR
IT-U= H g ‘B’ foremn grm 3R gt B’ Rt et 1 g | afe WA gftaert | 18w =
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |
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R TReers Al ToTg A6 27

(A) 100°C (B) —-40°C
(€ 0°C D) 4°C
KIGERGIER e

(A) 100°C B) —40°C
(C) 0°C (D) 4°C
ST e g T A e 2

(A) 100°C (B) —-40°C
(C) 0°C (D) 4°C
Tt T T JTThay BT ® -

(A) 100°C (B) —-40°C
(C) 0°C (D) 4°C
Water has maximum density at

(A) 100°C B) —-40°C
(€ 0°C D) 4°C

NI KGR (I *141S T~oifeq Tesiiv, Teqe S SoTSsl T=o/F 1T SR 391 27 2

Q) ey (B) s

(C) dreaifs Reew (D) oy

I TGRGR TR SRAM, o=l G A 10 SR 3 2

(A) ey (B) =4S

(C) wIgRem (D) THerog

o AN SRR GEH-gred g, TR TR STERAREE! B! ?
(A) e (B) T

(C) T fafirm (D) wu fafiem

¥ o ITE, foraor 3T WUd 1 37— T AT AT IR S A1 g ?
A) arforsy (B) 3efmE

(C) T formm (D) THSITH

Which social science studies the production, distribution and consumption of
wealth ?

(A) Commerce (B) Economics

(C) Political Science (D) Sociology
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3. fwfafre sifiig o/t Treifis oi@ couie smidfh oare i :

A) gofmN B) wifrE
(C) s (D) TFefREN
3. T SaEiis Sifei (/TS TR SiE (owi Somi fofes 74 :
A) i (B) SIGIeRIN
(C) e (D) FrefRE
3. TEMTE EHIBRHR SUE-aT ¢ STUhicd omn sHeE! /A |
(A) I (B) Hf=m
(C) 3IrTsIftrem (D) SsfiEm
3. Freerfa Te 3 S T & T A A e T 6 e |
(&) wErfEm (B) it
(C) wrifewm (D) Shefirm
3. Identify the normally radioactive material in the following list.
(A) Plutonium (B) Germanium
(C) Osmium (D) Cadmium
4. SfeTel (@GO 2O 7S e (Jeta A 2
(&) i (B) e
© = (D) =
4. SRFET I TSP T F© & CIETRIC QAT 2
A) +m (B) r®
€ = (D) =G
4. VIS SICRATTE HIFE SIS JT6E o o 2
A @5 B) @7
(C) =6 (D) @8
4. aiciera 8, gfa du e Rt pd i g € ¢
(A) U= (B) @rd
©) ®: (D) 38
4. In Volleyball, how many players per team are on the court ?
(A) Five (B) Seven
(C) Six (D) Eight
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5. foaferie MRS @me e Sesife fiera o[ 727 2

@A) b (B) el

(C) T D) ww=ml
5. Icw Srars AR Wi (@iin Srelfe BReT (e 2 ?

@A) = (B) sl

(C) T D) ww=ml
5. TETERT SN 2ATAT fHTerd SIS SHfRRE 7

) fayg (B) m

(C) =g (D) e
5. frfofaa 2fel § & B fewerm & 78 Freadt § 2

) fayg (B) m

(C) =g (D) e

5. Amongst the following rivers, which one does not originate from the
Himalayas ?

(A) Indus (B) Ganga
(C) Yamuna (D) Narmada
6. 1st SRR, 2022 ACATT P KGT@! G 2
A) &S] e (B) DECIIRA GRS
(C) Faors foog =iy (D) forga et
6. 2022 R 1st SRFAITS SR Rrawa & ot ?
A) oS! el (B) DEHIZA ARSI
(©) fes feey xrfi (D) AR &l
6.  1st FHeRY, 2022 & W@, AW T-T&T (finance) AR AR 2
(A) 3t for (B) == =g weed
(C) Tem= fas v (D) WSy g
6. UEcl S, 2022 I 37H % fod T B E 27
(A)  SFSfT AT (B) =gHIE Terad
(C) fewa ferea smi (D) Y &SR
6. Who is the Finance Minister of Assam as on 01st of January, 2022 ?
(A) Ajanta Neog (B) Chandra Mohan Patowary
(C) Himanta Biswa Sarma (D) Pijush Hazarika
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31t 916, 2022 IATHTH SPINE P (T2 & =i ?

INIR G (B) ~2fam

(C) Tofe (D) fas

2022 TR 315t [TH AP FOBT! (Sl feet 2

(A) oI B) mfas

(C) Tofgs (D) g

31st AT, 2022 B N ST AHeH o g 2

(A) M 34 (B) WM 35

(C) ®M 33 (D) WH 32

31 T, 2022 ! 319 | fopar o1 8 72

(A) SidE (B) Tdim

(C) ddm (D) s<E

As on 31st of March, 2022, how many districts are there in Assam ?
(A) Thirty Four (B) Thirty Five
(C) Thirty Three (D) Thirty Two
foraferie ol TR T (70! ST ST #op S 2

A) B9 (B) Twsile

(C) eI D) o

0 Srie oIl S (IRIG SIPICTR 105 =R SAmie 2
(A) B9 (B) R

(C) TREE (D) oI

TETATE BT BTETh IR TSI &6 FTeU STTHTHS |1 TARN ?

A) == (B) Ut

(C) =R (D) Y=
Frafafad o @ 1 o1 ow 31Em % WY S e Har e v

A) = (B) dTe

(C) =R (D) e

Which of the following countries share border with Assam ?
(A) China (B) Nepal

(C) Myanmar (D) Bhutan
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9. feaferiRe weomzs (@iFew SibEels 7o iz ?
(A) TR CTg (B) *mizqi W
(C) TIv B&RTI (T (D) TRl TOIE_! OTg
9. I Saiie CTgef I @i ETeib o Bt SR ?
(A) TR T (B) *<i290 (T
(C) TIF B&RTI (T (D) IFRITSN OTg
9. TERTE BHTT SATHRI TSI &6 THSTT TS SHGATRATE § 2
(A) T EY (B) wgEne &g
(C) o BRI &g (D) HIfeTaTIHIT &g
9. TmAfaiRad yeti & @, & @1 qo8 g e W g ?
(A) TR EG (B) @gETe g
(C) ¥ UH BRI &g (D) el 8
9. Amongst the following bridges, which one is at the Easternmost place ?
(A) Naranarayan Setu (B) Saraighat Bridge
(C) Bhupen Hazarika Setu (D) Koliabhomora Setu
10. SO (2L qreyd AN SprE A=) = 7 2
A (B) e
©) =i D) =2
10. SRS T AT SR 6 A AT 2
) b B) e’
(C) =5l D) 7=
10. WA AHEE TESIAT SEEST {91 T 2
(A) TE9 (B) #H7
(C) 9= 8 (D) = 10
10. 9 % foha T 379 & A1y HAHT AT H & 7
A) it (B) ¥
(C) 3ms (D) <=
10. How many states of India shares border with Assam ?
(A) Nine (B) Seven
(C) Eight (D) Ten
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11. SPFF i 356 6 2
A) @R (B) w®q
(C) ™= (D) wize
11. SPIGR AIET alie i 2
(A) @R (B) TI®T
(C) e (D) oY
11. 3TEM STETETSATR gHIsT a1 ?
A) =@ (B) ¥
(C) w9 (D) IR
11. 3780 & TS 9& F13 7
(A) g (B) &
(C) =« (D) et
11. What is the State Tree of Assam ?
(A) Hollong (B) Teak
(C) Saal (D) Peepal
12. SPTIE (T OIS ¢! wiie A& A4a W S ?
&) Rt (B) ToEq
©) TEIH D) =
12. TR STl @3 AN TR A0S SIPTICEE I E S_AES 2
A) FReTsE (B) TR
(©) RFHe (D) =s
12. OreT TRkl T gfia w1ee Afe STEm Y € SRR g 2
(A) fowETR (B) T
(©) it =t D) &’
12. O3 AehT 3R g=ifia Anere Afet 38w & fpa W w g ?
(A) FreER (B) @
(C) gt =ikt (D) =z
12. Poa Mecca and Hoygriv Madhab Temple is at which place of Assam ?
(A) Sibsagar (B) Tezpur
(C) Dumunichowki (D) Hajo

SLRC-2022/P-I1I/B 11

P.T.O.



13. ARG SEES bR Sl (P I :
(A) w3 (B) TRFTIR
(C) =it (D) a2
13. TARRICH SRFES Bl 9T (P o1 2 :
(A) AR (B) BTR
(C) w2 (D) xR
13. SRgramE A= an'En fofoeam waemt genan ¢
(A) R (B) 2rehelrs
(C) dmg (D) farg
13. SIREre fed 9 SHYT HEIH 1 A Famy |
A) @ (B) Zrehetrs
(C) g (D) fomrg
13. Name the tea research institute at Jorhat.
(A) Tarai (B) Tocklai
(C) Tamoi (D) Tingrai
14, 29¥ ST R (2R :
A) ©izH (B) I AL
(C) el (D) BT
14. =¥ SRR SRR N 29
&) s (B) &I AR
(C) el (D) ZTS!
14. fifafm sraften verien @t gam o ?
(A) wrgfa (B) SR HHR
(C) rEmfd (D) g
14. STHMHAT S UGt Zlehl T A FATST |
A) Wiz (B) SRR GER
(C) (D) EgHTEd!
14. Name the first talkie in Assamese.
(A) Bhaiti (B) Baruar Sansaar
(C) dJoymoti (D) Indramalati
15. IR S9PTRRe @ReE T 316 SIS S[ES ?
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15. T Srafrs rlelem S0 (@ T SO SRES ?
A) ™M@ B) I
(C) famvat D) =9
15. TEMI §o ST ST §RATE € ?
A) fewim (B) pfwmm
(C) wnfadt (D) g
15. Feafafgada s fiTd s adiig ¢
A) Teshim (B) HRET
(C) «nfad D) wg
15. Which of the following river is in the Barak Valley ?
(A) Dikrong (B) Kushiyara
(C) Boginadi (D) Bharalu
16. TP Sl 529 (2R :
(A) 9B (B) oGl
(C) el (D) - fert
16. TP A1 *12F 2
(A) 39Tl (B) TGN
(C) el (D) et
16. UT g TegE T ee
(A) ST (B) dfeamm
(C) 7o (D) i
16. U% 1 TIUHI T2
(A) ST (B) &feamm
(C) wam (D)
16. The Capital City of Peru is
(A) Bogota (B) Santiago
(C) Havana (D) Lima
17, GTGTE B3 SIS TS e :
VIR CIEY (B) Fferrel
(C) ZMIARM (D) g gt
17. IS 555 YIS SES -
A) =T B) Rl
(C) =FERm (D) fore fram
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17. IS Wi TaE=s] ATTETC 7
(A) e (B) hrethra
(C) e (D) e feeedt
17. IS Wi TaEes TfRms |
A) g (B) =hietehral
(C) e (D) % feeett
17. The National Stock Exchange is located in
(A) Mumbai (B) Kolkata
(C) Hyderabad (D) New Delhi
18. Bl TTHE 71 SFIHI FTHCe T2l MR SRS e FaRR ST
ToMIC! FEfeTre ifersiq oMl foeie 54 |
(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive
18. Ty Traiie Siferdl (At (T SR TAMAIG G0 FICHR (ATF Sl FICHICH
T FBIS TS PRI 1 A ©f iz e |
(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive
18. TEETE §H™ 96 HIA8 TR TS (hardware) T8 @R TEH T8 SRy ARTe
QLA (file transfer) gRU ?
(A) BIOS (@)
(B) Hard Disk (gréfewn)
(C) CPU (drfy)
(D) USB Flash Drive (3.74 5. %9 g159)
18. THAfARad = & 36 BISaa S ol T8 o, T8 T Frel § GEL Hrqel H H1gal i
TIMTAN i o T 3T feoman ST HpaT 2 |
(A) s=E (BIOS)
(B) =®TE fe& (Hard Disk)
(C) #.dig, (CPU)
(D) 9.wd. & w9 g5d (USB Flash Drive)
18. From the following list identify the hardware component that can be used to

transfer files from one computer to another.
(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive
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19. Teq ©INed Prg-9leRl Seeofe 1HF oe e nifEFde; Jerefiq o[l 7= P4l

°|3\935132€C§:
(A) IR s (B) Ae~{l S Ky “Ifoufe
(C) A ot (D) AT “Ngier sEoT=

19. Tex ©Fred PE-9eR Seee v SRS SRES ARFIte JoTof (A I
RS eI TR ?

(A) FRCIEN s (B) Mol @R ey sl
(C) SRRE! *Ree (D) = “Ngle *Rei=

19. S FSIUTEIST HI-RA Y- STRAMHR @il A gahd SRHE! SATre! @rers! ?
(A) HRHRH (B) TAYeT AW fdeam=a
(C) 3maeht (D) dR e

19. 98 Tdasvft S I WRA o HRA-T7T o6 BT b gfeavil W % g o YR & 1ol ! 2 -
(A) HUHH S (B) wdyel 3R foex
(C) 3IWEet & (D) IR ST &

19. The range which separates Indo-Gangetic Plains of Northern India from the
Deccan Plateau of Southern India is

(A) Karakoram Range (B) Satpura and Vindhya Range
(C) Aravalli Range (D) Pir Panjal Range
20. SIIHRET SOIPIS (FIFG! R Te#ifEe ?
INEE ) (B) CIO&R
(C) g (D) A
20. (I 7 AT TOPICS 1S A1 2
@A) == B T
(C) Tagf (D) =
20. IS ToHE SRR e s« et =1 ?
(A) TS (B) e
(C) e e (D) T
20. 3ieifues Tas H M &1 1 Hioe T B ?
(A) o B) B
(C) s (D) dren
20. Which colour is not present in the Olympic Flag ?
(A) Red (B) Green
(C) Purple (D) Yellow
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21. P G N6 9 (Ramsar site) SEAMRG (2R :

Q) feE e (B) Iawatfel

(C) TR e (D) fCz-Toeaml
21. PG GG TP 25 (Ramsar site) TN 24 :

(A) AR R (B) ITwerAl

(C) TR e (D) fCz-Toeaml
21. TTEMTE BT €371 W T8’ Ramsar site fore |

A) o fea (B) sReert

(C) igsh forett (D) feg-&wra
21. 37§ UHAT THE €15 HYMH 2 -

@A) feam e (B) STGretHt

(C) =igeh ofie (D) fes-Sran
21. The only Ramsar site wetland in Assam is the :

(A) Deepor beel (B) Bordoloni

(C) Chandubi beel (D) Dibru-Saikhowa

22, RIS TG 27 FG! “RIb 518, @b ABIS” BBl PITS RIS T2 ?
(A) = S oI Foriel FFAR
(B) &N eI
(C) e =i g Sagel SEele™
(D) SR (% Taee] THCAR

22, faferie TgeIRTaE @ING “wM Jivle @b reie” sfremix 10 3Ye 7 ?
(A) FZ 8 IR eIl TZTTH
(B) &N S@elfer
(C) Tfze s frg Tz wgelew™
(D) SR I7=o/% Sl TFCR

22, TERE g ¢ Tt fawar “adt srnst, 9 ygren” graeiiafy geresti aiea i1 ?
(A) GEf AR 1@ 3T T fawE (B) T3t sirmeg Wit fawe
(C) TS 3 gl St Tt e (D) g @ S w e
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22, Tr=ferfed & @ &9 @1 waer™ “ad s=neh, 9 Uil ST hl Ugd | o1 el 8 ?
(A) TR IR IRER HeIToT Hed (B) Tmfior faehm wome™
(C) wfgen v are foremmar waTer (D) THe HETge forehE gare™
22. Which of the following ministries is NOT associated with the initiative of
“Bet1 Bachao, Beti Padhao” scheme ?
(A) Ministry of Health and Family Welfare
(B) Ministry of Rural Development
(C) Ministry of Women and Child Development

(D) Ministry of Human Resource Development

23. oY fofeea! Tefmie o' o1iEe :

(A) Frema (B) @R
(©) =0 D) fozors
23. SPIN BiReoT wRifwiier s
A) et (B) =zl
©) D) fozore
23, AEY Afgehe BUFETHTRT 971 ¢ ?
A) oo (B) <Er
(©) e D) fesre
23. 31" Higehdt o e 8 —
&) faer (B) wiRER
(©) TEmEE (D) feme
23. The Assam Medical College is situated in :
(A) Silchar (B) Jorhat
(C) Guwahati (D) Dibrugarh
24. SIS SR SOGIATS (TR R 2y 16 I OIS Sivs 2
Q) foreaer B) =zt
(C) Tof&TsaTETemi= (D) Gl TR
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24, SRS FHIAT SIal e TR (PIIGH A0 Y@ ?
NIRERLD] (B) sifso=are
(C) fefabreTirem (D) ArEie TaEe
24, YA T@RM GeTg, THeM SuueT, TeRH Sesli e g ?
(A) ESYNE (B) @@ fq@H g
(C) AFHRE™ @™ (D) TSI ATHT SITTTS
24, UM S5UY, YRA TR i ForT 781 < T JST 7 7
(A) rhrehTE (B) =l
(C) TefSreettertm (D) T=HT T
24. The mission Indradhanush, an initiative of the Government of India, is
associated with :
(A) Immunisation (B) Cleanliness
(C) Dagitalisation (D) Highway development
25, TSR S ALEAS Bl e I FTHfere ! 3o s ?
(A) T — ORIy (B) Tamr— =i
(C) IfRTGY — (! (D) sfefz - Sf
25. fo1cy Srafre Teres! (dance form) 8 SF FHHS AT I T4 (FI (SSIH ST 2
(A) THA — S (B) AG — =P
(C) IfRTRIT — il (D) Sfef — T
25. TERE BFM € SET HEEE e 3R faf 3w wessi s 2
(A) &0 — qH AT (B) @ — 3mEm™
(C) wifeftargs — e (D) 3ifest — afemm
25. TEfIREd § € & 91 ST, T T 3R 3o A TAT < eH § 7Tod & 7
(A) J&H — AT (B) @t — 319w
(C) Hifefiargs — htet (D) nfeeht — snfewn
25. Which of the following pairs is INCORRECT with reference to the dance

forms and their native states ?
(A) Yakshagana — Tamil Nadu (B) Sattriya — Assam
(C) Mobohiniattam — Kerala (D) Odissi— Odisha
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26. 1919 5 AR @RI 951 A1 IS RGBS @l ifet ?
(A) A =2 Y2 I
B) TR OF C FRFEE el
(C) 3% Krerem
(D) IERIRIE 5T IS W5l
26. T SER® @i 16 1919 @ =45 27 2
(A) FSHG SN2 <A
(B) DB GRS TFIF (el 2
(C) ToreH
(D) SICRINSIRTRICR 7: 4G 1ol
26. TERM g8 TUFAT § 1919 HIZATATE TRTGH ?
(A) Tere TRMA THRSH™ (B) HiH] — IEABISH BIEATEISTHR
(C) sTAM G (D) AfAATETAT ST G
26. f=ferfiga o & o9 wt oo 1919 9 78 g5 oft 7
(A) Tore uge i fepam man (B) i <FHHIE UR i TE0M 6l T
(C) <et &1 favrea (D) SIAATITAT ST HTS
26. Which of the following events did NOT take place in 1919 ?
(A) Rowlatt Act was passed
(B) Montagu — Chelmsford Reforms were announced
(C) Partition of Bengal
(D) Jallianwala Bagh tragedy
27. TRl I bR w1 12e1 ¢ 7wrel T FarEe FAF =ed 2019 b9 Gell2 A7
g 41 (2fee ?
Q) @@ ¥fe Siele (B) e K et
(C) w1 f2 4 = wifeas (D) S 51 SRS
27. G SRS @R ARSI &1 37 € 7wl I-E ST T & 2019 N Gei2

0T RS 2T ?
A) erife SfiegE (B) @ R Sifeaie
(C) o 2 41 @ wfege (D) & 518 S
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27. TR §& AEUREE! § 2019 RN JAE TG ‘3@ B¢ YR I @it
QGRYTIE!” TG SR STEHH ?
A) I wifea ARE= (B) S fereprar ™
(C) o1& o7 & IIhEE (D) I ST ITNEE

27. o1 G ST TEA0 AT H el W o fote Jorg 2019 # fraferfea @ & o e &
IS oft 7
(A) <o ifed AR (B) i fereprtd 31fim
(C) 1 &1 o & AR (D) e 3 FAEE

27. Which of the following schemes was launched in July 2019 to accelerate
water harvesting and conservation measures ?

(A) Jal Shakti Abhiyan (B) dJal Vikas Abhiyan
(C) Jal Hi Dhan Hai Abhiyan (D) Jal Bachao Abhiyan
28. TS (P! 2 (5 o 4% Ce wivs =127 2
(&) e (B) e
(C) w=RMNe (D) <!
28, 0 SERS (&iw BAIG WfeTer (oe1 QTR 0 I 17 ?
(&) g (B) et
(C) iRsilS (D) el
28. TEEM S8 STRATET Uit Seetsl efies & ?
(A) gferrs (B)
(C) weTTE (D) =it
28. Tr=fcTRad ® | I |1 £ Yoy & 4 gafua T8 & 7
(A) gfermsH (B) s
(C) s (D) =t
28. Which of the following locations is NOT associated with the petroleum sector ?
(A) Duliajan (B) Nazira
(C) Bongaigaon (D) Margherita
29. TIRTL (7S AL #1407 8 Gl 79 (GST) el a1 C2fee ?
&) e (B) w0
(C) el (D) W IENE
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29. T (I &N 79 8 ¢TI 9 (GST) VA AR 2
) i (B) T
(C) Jiel (D) I
29. o9 gEUd SRS o e 31 | e (GST) 311 ™™ e 7
(A) S (B) wid
(C) et (D) e
29. I%] T a1 K (SN.TH.A. ) AN I AT TgAT ¢ i HT AT ?
(A) S (B) wid
(C) Tt D) qw.T
29. Which country was first to implement Goods and Services Tax (GST) ?
(A) Germany (B) France
(C) Canada (D) USA
30. Sqoq FRYAT SRR 17 © f5eg [Keaa Sl St 51 (20 ?
(A) PR (B) IFo T
(C) =Pl (D) 7
30. SIFOR MRFAER 17 7 4R (@0 [efe 71 e 2
(A) TPTg (B) pieTm =fe
(C) =Pl (D) T
30. TR SeE! SRGRATIS HRATH Aot @y 17 g1 eflean g ?
(A) TAHER (B) T<1 &9
(€ g (D) @t
30. YR % HiaL™ *1 g 17 oheh e 4 Tela 2 ?
(A) Tt (B) Y3 Hfel
(C) 3Ir&gan (D) &t g
30. Article 17 of the Constitution of India deals with the abolition of :
(A) Slavery (B) Bonded Labour
(C) Untouchability (D) Sati
31. TPITEH TER AEgPITS R Bt OIS B¢l Fifre ?
A) = (B) =
© Feee (D) “HEsY
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31. T AR AETGPICE RS e SRIeT w/fvfe FCafecem ?
A) T (B) =TI
(€) frpey (D) HE3Y
31. = AN 31 HR S GAT3H TH1E HRASTE Sraam A ?
(A) T (B) 3
() oo (D) HHT
31. TrH TSI < WITHehTCT o GRIH & | WG 3711 T 7
(A) T (B) 3
(C) feovrr (D) HHT
31. Hiuen Tsang visited India during the reign of the King :
(A) Harshavardhana (B) Ashoka
(C) Vishnugupta (D) Samudragupta
32. ffafie @M 2R Ses wftafes 7N (Economic Survey of India) @M

32.

32.

IPE?

(A) BT T “ifsm (National Development Council)
(B) @ 7@ (Institute of Finance)

(C) SRR “fiees @fSd (Indian Statistical Institute)
(D) <@ TFee™ (Ministry of Finance)

o Srafirema Ti @b SiHeed wLfeF A1 (Economic Survey) 25 FF 2
(A) SIORT Savgel “Ifsam (National Development Council)
(B) @ ® (Institute of Finance)

(C) SRR AR 712 (Indian Statistical Institute)
(D) f<€ JZeMe™ (Ministry of Finance)

TTETATE BT SeI37T $eh 14 TTH 375 Sreal @i fegl ?

(A) g ST Tﬁﬂ'ﬂl (National Development Council)
(B) $EAS 31% Brgid

(©) e wfefend sieR

(D) fufifer 31 wrga
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32. fmferfaa # & i wa 1 anfies weeror yehifarg war @ 2
(A) TsER ferenr uftye (B) fort wieerm
(C) YR ATRgehi Te™ ) RESKEISD

32. Who among the following publishes the Economic Survey of India ?
(A) National Development Council (B) Institute of Finance

(C) Indian Statistical Institute (D) Ministry of Finance
33. ffaiie @R @ wLaifes Sesimete SR oM Ty © g 5ae[e 2rew
qCF ?
A) HESiES (B) =i
(C) e (D) T
33. I SEfie W SLNIfSrs T SeoAmeHe oM TR NfeTpieige @3 g
qCF ?
Q) SHEelEs (B) “ffe=rl
(C) ff¥rs (D) Ta®
33. TEMH §& TEIFISN g 3T THe! fogium $E SRE! Sthrat amel ?
(A) HaTSETE (B) @
(C) TTATE-HI= @I (D) HHA @
33. Tmfafaa d @ form srefvme 1, gl ScTess Tamem Tt R & w@iftca o d g 8 2
(A) FHTSETE (B) qofaret
(C) Tty (D) Tl

33. In which of the following economies, all productive resources are owned and
controlled by the government ?

(A) Socialist (B) Capitalist
(C) Mixed (D) Dual

34, TR GG =TS T2 SIRIE 1942 5719 SIFS Sfis! SHE HTS F2e ?
(A) RIS A% (B) IR Bfeam
(C) (% HIfg Wi (D) &S Wi

34. T TS &M Z0 1942 0 T2 SR 7IH1 SIS RITT! STHIE SRS 2ME ?
(A) RRS o6 (B) JREH EHiEAN
(C) 191G I Wi (D) &S Wi
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34. TR S8 SRAHHR FETeAT MRS ‘WRA TAR SHEERAE @ § 1942 HISIREE ST
AT ?
INIREEISIRIE? (B) &M wfeam
(C) 3 1 e (D) s frem
34. I¥ 1942 H HgTe el g1 YA DL 3Teier FHefoiRad 8 & fohet T W e fora mm o 7
INIREEISIRIE? (B) &M wfeam
(C) 3T shifel HeH (D) i #eM
34. In which of the following locations was the Quit India Movement launched by
Mahatma Gandhi in the year 1942 ?
(A) Shivaj Park (B) Brabourne Stadium
(C) August Kranti Maidan (D) Pragati Maidan
35. 2022 bed SIFRIST TR SN, AEPTSIS LI 2P ST APl el (20= ?
A) AT (B) Tegewm
(C) ArerE (D) Teq AT
35. 2022 T QIRCS (I A0Sy ASPTSIR A 7 fea 2
) s (B) qr@iom™
(C) 9r&Ee (D) Teg &
35. 32022 AR T TR HRA o TSSIEl THEH e e 3779 SF{-gssl Sifed
LUE K
(A) HAEHI (B) AT Y
(C) TSTEIH (D) ST U
35. SHEdt 2022 Toh, TS |1 H Hal(eeh Hiel are TS 2 -
(A) HARCH (B) TS T
(C) U= (D) ST
35. As of January 2022, the state which has the maximum number of seats in the
Rajya Sabha, is :
(A) Karnataka (B) Madhya Pradesh
(C) Rajasthan (D) Uttar Pradesh
36. SRSR MR @G Sorm @, @ifs, 3d, o T sree fCfed @R ev[e

ToTC STl 07 2
(A) ST 25 (B) Seqo=v 13
(C) re=m 15 (D) =M 19
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36. SIFOR MRAER @ 4RICS &, &ifs, 3, fomr «R TRt fefers (@ Fcs
FATRR ?
(A) 257 4=l (B) 134t
(C) 15 7R 4l (D) 19 7R 4=
36. WRAX wfefel a9 @rfRrm afim, ®ior, g, YA AW SIHE RN |
AIEATIE! 31 B 2
A) @I 25 (B) @rf=r 13
(C) @15 D) @119
36. W W™ 1 HH A1 3o g1, Torasl, AMfd, ol 31t 977 T&H & SMER W Yeurd
Uehell 2 ?
(A) 3<% 25 (B) 3T=8g 13
(C) ¥F= 15 (D) 1g=a 19
36. Which article of Indian Constitution prohibits disecrimination on the grounds
of religion, race, caste, sex and place of birth ?
(A) Article 25 (B) Article 13
(C) Article 15 (D) Article 19
37. T2RM Vel W2 ST (ollet oam (g S
@A) fa@rgE B) &
(C) ZRMRRAM (D) T
37. 2RM vl W2 AR (37 o197 (1) AL -
@A) fetom (B) fran
(©) =ZFuRmM (D) ToMle
37. TIERG 3Tfee MEM Sfiel 7Iel M WFHT, Mt T (e THIE) AT |
(A) ST (B) feeeft
(C) deuEre (D) W
37. T 7SS (&), HEAG SIS I8 h1 Hehar] fEd & -
(A) ST (B) feeedt
(C) eueg (D) T
37. The Gol Gumbad (Gumbaz), the mausoleum of Muhammad Adil Shah, is

located in :
(A) Bijapur (B) Delhi
(C) Hyderabad (D) Bhopal
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38. OISR PN [Nl HeiIbet TEellers Sriar® (Rl ‘UDAN’ © ‘A’ 9ef{Gg 519)¢f feleh! <5 ?
(A) N (Aam) (B) @39 (Air)
(C) <™ (Aakash) (D) @i« (Aviation)
38. ISR PN RN bellbel Y@ Sritsl 9me ‘UDAN =@rfee ‘A’ k(b o
QIR ?
(A) Aam (B) Air
(C) Aakash (D) Awviation
38. Wrat fafye ufirees At gee ‘UDAN game T, ‘A’ 31 o1 e ?
A) ™ (B) T
(C) I (D) ufirEs
38. YA % AN IggI T 1 Uged, ‘UDAN § ‘A’ HI T AL & 7
(A) Aam (B) Air
(C) Aakash (D) Aviation
38. What does ‘A’ stand for in ‘UDAN’, the initiative of the Ministry of Civil
Awviation of India ?
(A) Aam (B) Air
(C) Aakash (D) Awviation
39. %10 =1 (PIGT TG ES TS THAIS (=1 2 SIS @il (Bl 6 ?
(A) GG B) BHuz
(C) T2 (D) Tt
39. % 10 7% (I DIl AR JeHRCR SCF (Fiel SIS 2ol &2y Tofeie =7 ?
(A) GG B) Bhigx
(C) T3 (D) I
39. T 10 OIRG kIS STSIR S8 THT o shiegam frferfam srarfe s 2
(A) THA (Airtel) (B) Ty (TCS)
(C) fast (Wipro) (D) T@=E (Reliance)
39. DM T HUH T 10 AN HUS TR GoAToh ! e L Tefl Tgeft TR Bl 74 715 7
(A) TeA B) d#@wm
(C) fom (D) Tomm
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39. Which company became the first Indian company to hit the ¥ 10 Lakh Crore
market valuations ?

(A) Airtel (B) TCS
(C) Wipro (D) Reliance
40. = b efow) w1 e 7 -
(A) SIS HCFTPI I A TETSSIR (BT
(B) Sl SR o] S O bk 39
(C) <o PR o= qEsF
(D) wfsatiet vz o< foeaer wht
40. % 7ol el S9) PR -
(A) SINEIS AP G A TECOIR A5
(B) =l ST wifel @3 T[S b 3]
(C) <9T© PR G AEBF
(D) hose (TeF @R oede w
40. TS TG R TAEAGHM ?
(A) T 3TeEH A TSR ToeaaHHTs Teet
(B) 3% SATEH 3Tl ST U I i
(C) wiTafdg 3T TeNe
(D) TdfieATer J8% I e o
40. TS 9T sht TATIHT fohgeh g1 b1 178 off 7
(A) i gt 3T AER GeavqTs ued (B) 31U 3THE 3Teft 3R guTeg 99
(C) wiTfiiE ST TSe (D) TidieTe Taw 37 e g
40. Swaraj Party was founded by :
(A) Bhimrao Ambedkar and Sardar Vallabhbhai Patel
(B) Aruna Asaf Ali and Subhash Chandra Bose
(C) Bhagat Singh and Rajguru
(D) Motilal Nehru and Chittaranjan Das
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41, W E=Y 2 (erw I :
3 4 7 2z
A 1 B) 3
© 2 D) 4
41, W XY 2 e YTV o
3 4 7 27
A 1 B) 3
© 2 D) 4
41. X =Y -2 e XY fyamanawie
3 4 7 Z
A 1 B) 3
© 2 D) 4
41. a&%:%:%,?ﬁ“yz”wat%
A 1 B) 3
© 2 D) 4
41. Ifgzzzg,then x+yz+z 1s equal to
A 1 B) 3
© 2 D) 4

42, WS GHitF MY I i RKCas1 F91 BIfGI T RUT @9 64 | FRACFEHR T
w9 FRAICET (2R
A) 13 (B) 11
(C) 16 D) 9

42. SR TS “RA8] FHF (consecutive alternate) JRF @9 64, WA T FaOT
SR

A) 13 (B) 11
(C) 16 D) 9
SPACE FOR ROUGH WORK
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42, TS SIS AR AT SISITeRTE €™ 64 | SERE dere e smfmmn e
(A) 13 B) 11
(C) 16 D) 9
42. < SHATTA Uhial T3 1 AT 64 2 | 390 H T BT T&AT R :
(A) 13 B) 11
(C) 16 D) 9
42. The sum of the four consecutive alternate numbers is 64. The smallest
number amongst them 1s :
(A 13 B) 11
C) 16 D) 9
43. 90! TR 2 : 3 TPHITS SR WIF PR 7.8, Wi 91378, 7= (R 96 | R
VBT Q@o1e] (2%
(A) 8 (B) 12
©) 20 (D) 36
43. 730 MR IS 2 @ 3 IR SR ALY, 3R V8. @7 77 T4 96, 72! 7307
IR 26
(A) 8 B) 12
C) 20 (D) 36
43. A IFARNEIH FHUEA R 2 ¢ 3 R SERM 33791 (LCM) 31 <.31.81 (HCF) &
SIS S 96 | & Hi SR greemmaEt fogd |
(A) 8 (B) 12
©) 20 (D) 36
43. YT 2 : 3% U H & 3T 37 LCM 3Tt HCF 1 VeI 96 7 | TE13T BT AT 2 -
(A) 8 (B) 12
©) 20 (D) 36
SPACE FOR ROUGH WORK
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43. Two numbers are in the ratio of 2 : 3 and the product of their LCM and HCF
1s 96. The sum of the numbers is :
(A) 8 (B) 12
© 20 D) 36
44, WA’ IVETT B ST 25% @R, (SC@ ‘B’ I 7N ‘A’ I TANZOCSH [P 1S 3 2 2
@A) 20% (B) 25%
©) 12%% D) 16%%
44, T A%, B’ AF 25% @R (@O A ©(F ‘B-EF (@O ‘A’ (ATF TS *oiH F 2 ?
(A 20% B) 25%
©) 12%% D) 16%%
44. S A f1 symsn B 1 suafgg 25% sifem, s B T semsn A 7 seafwgs o0 st
@A ?
@A) 20% (B) 25%
©) 12%% D) 16%%
44. Ife AFTdT B a1 8 25% 31k &, a1 B 1 9d9 A o oad 8 feraqr afaed sa 2 7
(A 20% B) 25%
©) 12%% D) 16%%
44. If the salary of A is 25% more than that of B, how much percentage is the

salary of B lower than that of A ?

@A) 20% B) 25%
©) 121% D) 162%
2 3
SPACE FOR ROUGH WORK
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45. FMix= \/g,C\DC@x4+L43WC§C§:
x

1 1
(A) 95 B) 25
©) 9% O =

45. IMx= J3WSE@ «t + i4 G T
X

1 1
@ o5 ® 2!
© 9% o 1

45. Jfex= ﬁ,mx4+i4ﬁnﬁ3nwﬁ=r
X

1 1
@ o ® 21
©) 9% O =

15. ARx= 3, Aat+ L wARE:
X

1 1
(A) 95 B) 25
©) 9% O =

45. TIf x= /3, then the value of x* + i4 is :
x

1 1
A 9- B) 2=
A) 9 (B) 9
1 1
© 95 O -
SPACE FOR ROUGH WORK
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46. M cos 6 = %, (oW sec O I+ :

2 2
-b b
A) ab B -
a
(C) +a?+b? (D) b
a+b
46. Wcos@Z%,Wseceﬁﬁww:
2 2
-b b
A) aT B) -
a
(C) +a?+b? (D) b
a+b
46. ‘g’f\acose:%,mseceﬁnﬂ\mw
2 2
—b b
@a =2 B) -
b a
(C) +a?+b? (D) b
a+b
46. qﬁcosez%ﬁﬁsecewqﬂ‘@m:
2 2
~b
@a 22 B -
b a
©) a2+ b2 D) P
a+b
SPACE FOR ROUGH WORK
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46. Ifcos0= %, then the value of sec © will be :
@ Yo ® 2
b a
©) aZ+b? D) aEb
47. 9O TR fqge “IRETHI (2= 6 (6., | fqgehR FifT 23
Q) 6.f2 (B) 6 .f.2
(C) 3w.f2 (D) /3 .f.2
47. a3 s fagrem «fif 6 or:f: | fageiba e 221 ;
A) 6TLf2 (B) 6 T.f2
(C) 372 D) 3 w.fr2
47. T8 TS A smafrumt arfis o 6 3./, Sreen 9 smenfRrumtt gt
59 ?
A) 6 @) B) 6 @.fu)?
(C) 3 @.fir)2 (D) +/3 @.fir)2
47. T quaTg Pget 1 afmm 6 F.. 2 | B w1 s 1
(A) 68.1H.2 (B) /6 B2
(C) 3.2 (D) /3 @ft.2
47. The perimeter of an equilateral triangle is 6 cm. The area of the triangle is :
(A) 6cm? (B) 6 cm?
(C) 3cm? (D) +/3 cm?
SPACE FOR ROUGH WORK
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48. J0.04 +/1.44 ++/1.69 +/0.0009 T I C2(2 :

(A 1.73 (B) 2.03
(€ 2.73 (D) 1.03
48. 0.04 ++/1.44 +1.69 ++/0.0009 9 I :
A 1.73 (B) 2.03
(C) 2.73 (D) 1.03
48. /0.04 ++/1.44 ++/1.69 ++/0.0009 AT &=
A 1.73 B) 2.03
(C) 2.73 (D) 1.03
48. +/0.04 ++/1.44 ++/1.69 ++/0.0009 HIAH T :
A 1.73 (B) 2.03
(C) 2.73 (D) 1.03
48. The value of ¥0.04 ++/1.44 ++/1.69 ++/0.0009 is :
@A) 173 (B) 2.03
(C) 2.73 D) 1.03

49. T §F TR 45% T T+ S TR 517 30% T A | 22 IF (@R FRAA TS

[
A) 2:3 B) 3:2
(C) 3:5 D) 2:5
49. &b RAF 45% ST &b MR 30% @7 TN | &% Wyifoa e M AfEe
eI
A 2:3 B) 3:2
©) 3:5 D) 2:5

SPACE FOR ROUGH WORK

SLRC-2022/P-I1I/B 34



49. WHE NN 45% 3N TG HHE AN 30% S §9H SR | 8 3 ATy
ST ST ST
A 2:3 (B) 3:2
) 3:5 D) 2:5
49. T T HI 45% Gl T&T % 30% o THM 2 | T8l ST 1 GO T § 39 3 -
A 2:3 (B) 3:2
C) 3:5 D) 2:5
49. 45% of a number is same as 30% of another number. The ratio of the first
number to the second number is :
A 2:3 B) 3:2
(C) 3:5 D) 2:5
50. <Gl o (PRGN o 1w 98 B Bfe f{eeTial Cafeet | &tere e &1 (R I weihie 26 o 19
AR 737 AR BReS il “A12ReT, (SU% HeThre 4 o1 I FRLY] TR :
A) 5 B) 7
(€ 10 D) 14
50. 98 6 5RF (toffees) 4 7ol (RLFT L&y Frogel U (1N 29T | W69 &TSIBIG (=0T, 7o
ST TR 2% BfF (toffees) T | HAGTS (RLFCR o AR fiaet -
A) 5 B) 7
(©) 10 D) 14
50. HIFE QA WY BETETHRAT 98 2 (toffees) TAATA JAGMM | & Sl BIATET ATHHET

AT T EAETBRA SHANEIN 2 H 2% AigHE | Selsld UHE BEEThRH
FANHRT AT ?

A 5 B) 7
©) 10 (D) 14
SPACE FOR ROUGH WORK
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50. T TV H S ASehi bl 98 TMHAT 1T TT5 | THE h TcAeh TTSeh ohl, IS ohl TG § &1 THI
iRt fieft | Teg o oreeni i T off
A 5 B 7
(C) 10 (D) 14
50. 98 toffees were distributed to some boys in a group. Each boy in the group got
twice as many of the toffees as the number of boys. The number of boys in the
group was :
A) 5 B) 7
(C) 10 (D) 14
51. ©2 b (Data Set)
1,2,4,1,5,12,7,8,5,1, 16,17, 12
T S| oo 5 |
A 8 B) 7
€ 5 (D) 4
51. O ARPOF Tl forely 091 -
1,2,4,1,5,12,7,8,5,1, 16,17, 12
A 8 B) 7
©) 5 (D) 4
51. TIETETE BT WG TSRHT B AT |
1,2,4,1,5,12,7,8,5,1,16, 17, 12
A 8 B) 7
€ 5 (D) 4
51. ST He h HITEAEHT T I |
1,2,4,1,5,12,7,8,5,1, 16, 17, 12
A 8 B) 7
©) 5 D) 4

SPACE FOR ROUGH WORK
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51. Find the median of the data set.
1,2,4,1,5,12,7,8,5,1, 16, 17, 12
A) 8 B) 7
©) 5 D) 4
52. ‘/£—1/25 ,/ ERICRCEETI
729 144 81
7
A -2 B) -
A) 9 (B) 15
20 11
C) —-=— D) ——
©) 97 (D) 36
52. 1/22 1/25 E&ﬂﬁm
729 144 81
7
A -2 B) ——
A) 9 (B) 2
20 11
C) —-=— D) ——
©) 97 (D) 30
225 25 16
52. ‘/——,/ 1/—ﬁrm:r ?
729 144 81 ﬁ?ﬂ
7
A -2 B) ——
A) 9 (B) 15
20 11
C) -— D) ——
©) o7 (D) 3
225 25 16
52. 1/——1/ 1/— CARIE] HifoTT |
729 144 81 =
7
i B -
9 B) 12
20 11
C) -— D) ——
©) o7 (D) 30
SPACE FOR ROUGH WORK
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52.

Find the value of ﬁ —JE — E .
\' 729 144 81

5 7
@& -3 B) -7

20 11
©) o D) ~38

53.

53.

53.

53.

‘A’ @ @I P Eea <1 @l 1:00 Fere 1 3./ (63 @9 @l e FEE | B @
@ W P I #[ G301 s f@fet 1:10 I 2 W /G @ore Tl Siee FEe | I
B @ AT QETS &9 A, (S8 PQ IR L

A) 1.5=M (B) 1.75F.f.

(C) 1.2Rf D) 1.25%FM

‘A’ OFF @ P SRR (AF [epe 1:00 PR &S GTats 1 MoK wos W e |
B’ [ 1:10 WHPR G52 G2 P (AT 9952 Shoycy &fs @Iee 2 Fol oo i@l
W el | A B, A 9971 Q St ffers 26 o PQ TH

A) 1.5R=M B) 1.75 .M.

(C) 1.2Rf D) 1.25 .M.

‘A’ 3 P SRt 1:00 4.um. fomme 1 (. /A%<) @rurss geart | ‘B 31el § T
SR P s 0 v fame 1:10 f.ug. fomma 2 iy /A @nesst geeE | i B
A’ @S Q 3T ArmHETsAr, PQ i Semsan e

A) 1.5Tw.f. B) 1.75fw.f.

(C) 1.2f%.f. D) 1.25 %M.

‘A’ IR 1:00 S A9 IET T P 1 AL /A, 6 1 T IE Har 2 | B I =Amen 35
WA P AR femd guet 1105 2 Y. /4. R Afd @ e Har 2 1Al B, ‘A8 Q
T W e e, @ PQHIgh R

(A) 1.5 Bt (B) 1.75 fp 1.
(C) 1.2fw. (D) 1.25 f.1.
SPACE FOR ROUGH WORK
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53. ‘A’ starts his journey at 1:00 p.m. from a location P with a speed of 1 m/sec.
‘B’ starts his journey from the same location P and along the same direction
at 1:10 p.m. with a speed of 2 m/sec. If ‘B’ meets ‘A’ at the location Q, then the
distance PQ is :

(A) 1.5km (B) 1.75km
(C) 1.2km (D) 1.25km
54. TG GF NS o7 &AW 40% FPT F91 e 9 ©fF 1= 20% Jfen F1 2T | 9 L

54.

54.

54.

oI oI (2 :

(A) 20% (B) 40%

C) 24% D) 28%

G T o AT 40% FACT 25T G=R SR 20% A4S 1 287 | T (A6 AfSeT
A

A 20% B) 40%

(C) 24% (D) 28%

T8 SHTe S8 fifeama 40% @HE 3 %™ 20% ST | SEEH S e
I SEG HiesE! ?

A) 20% (B) 40%

(C) 24% (D) 28%

Teh &g h1 H § T8 40% 1 FH AT STeh 7 3R R 20% hit gfg H St } | FHwa §
g TEdH B :

A) 20% B) 40%
©) 24% D) 28%
SPACE FOR ROUGH WORK
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54.

The price of an article is first decreased by 40% and then increased by 20%.

The net change in the price will be :

(A) 20% (B) 40%
(C) 24% D) 28%

55. forwi2 ©iz Gfetr @ 5F1 UM Sl I e eifSiheT SR ol a1 =7 “Afaie
Ieiferecd T 12 @R | T ©fF &2F el T 12 @ S¥ 9IS I, (9% 30 g owe &=l
EIRUECE RIS
(A) 5,420 (B) %5,580
(C) 5,620 (D) 5,780

55. forel O &l UOR YT %67 B @ eAlsel S Sl A S el (=TS T 12 il
= | AW ET @ e 312 B ol e wE 08 o feres @i 1w 30 it o
209 :

(A) 5,420 (B) %5,580
(C) 5,620 (D) % 5,780

55. fotsren Mafd gHYH d (Savings Bank) 31 U gHYAT | 9T SHYFAT faeis amshmer
A TS gHYEAR fesifags T 12 U SiE S o | i 9 7 12 T Aty gEfaee
SRYTRIET ST 8 30 T Sieamma fetsts gyt T faens sw=
(A) 5,420 (B) %5,580
(C) 5,620 (D) 5,780

55. oIS 3194 S=Id Sob W 39 HE U UHT THT hid! ® T & 3T Tt 3meht sy Uiy 39k st
fem <t s wft & ¥ 12 31feres 71 | Afe 98 veat fed T 12 Swn st &, i eften g 30 feai
31d | ST 61 I A TR Bt
(A) 5,420 (B) %5,580
(C) 5,620 (D) 5,780

SPACE FOR ROUGH WORK
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55. Liza deposits money in her savings bank in such a way that every next day
her deposit amount is ¥ 12 more than her previous day deposit. If she starts
her deposit with ¥ 12 on the first day, the total amount deposited by Liza at
the end of 30 days will be :

(A) 5,420 (B) 5,580
(C) 25,620 (D) 5,780
56. J51+J134 + 542+ /16 +/9 T :
A) 52 (B) 8
) 19 D) 9
56. J51+\/134 +5y42 + /16 +~/9 TG 7 297 :
A) 52 (B) 8
) 19 D) 9
56. TITETTE BT TR 7 feg |
J51+J134 1 5y42+ 416 + /9
A) 52 (B) 8
© 19 D) 9
56. iyl
J51+J134 1 5v42 + 16 + /9
WII'F{% :
(A) 52 B) 8
© 19 D) 9
SPACE FOR ROUGH WORK
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56. The value of the expression
J51+\/134+5J42+\/E+\/§
18 :
(A) 52 B) 8
<) 19 D) 9
57. 2 T3 230 FECE ST 1 240, 3 7T 299 FIRET SR 2 24! S 4 (J 299 e SR
3 23! (12 IR (2R :
(A) 25 (B) 41
(C) 13 D) 11
57. G0 RIS 2 7R Sl FAE SO 1, 3 @I Sl9 FHCE SR 2 @R 4 RN Sl FCE
Sl 3, R -
(A) 25 (B) 41
(C) 13 D) 11
57. WY FASHETE! 2 S TEARETE THERERT SRl 1; 3 S UAERTE e S 2 3 4 S
TS THEIGRT SR 3 | & STARSTHTRT e
A) 25 B) 41
(C 13 D) 11
57. Ueh HEH e 2 B ffia Bl &, A1 3%l 1 a1 ®; SU WM S W2 A9 =i 8 3 4 |
WIS W 3 AT S=A1 8, T8 :
A 25 B) 41
(C) 13 (D) 11
57. The number when divided by 2, leaves remainder 1; when divided by 3,
leaves remainder 2 and when divided by 4, leaves remainder 3, is :
(A 25 (B) 41
(C 13 D) 11
SPACE FOR ROUGH WORK
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58. TPIC G ST 311 3 Jien “I1CeT ST TS Nofey Tgelisel Jiem AR | ST o=« A
23
@A 3 B) 4
©) 5 D) 6
58. > TARTE FTACE 3 AR AfS A0 SRS Bl Sitard o 3fEe 27 | waieefba o7 -
@A 3 B) 4
©) 5 D) 6
58. WY SR@E@<I (fraction) TASHTT (numerator) 3 SREISAT o SRFE@ERGIAT oty
3/4 SR | & S@TEERI TSR e
@A 3 (B) 4
©) 5 D) 6
58. v forehl i o s H 3 Ifg AA B, A A f-Fem Hrafg et 2 | i w2
@A 3 B) 4
©) 5 D) 6
58. When the numerator of a fraction increases by 3, the fraction increases by its
three-fourth. The numerator of the fraction is :
@A 3 (B) 4
€ 5 (D) 6
1 1 1 2
59. \E \g \/gw\/;waﬁmm:

2 1
o o
1 1
o f o

SPACE FOR ROUGH WORK
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1 1 2
59. =, =, |~ @ |2 @ e e ;
\g \g 4 \\g

@) \E ®

(©) \g ®
59. gggmgﬁmmﬁmw

@) \E ®

(©) \g ®

59. \ﬁ F \ﬁaﬁ:ﬁasaﬁawﬁgﬁa%:
2 3 4 3
2
A) \/g (B) 5
1 1
o f o
59. The smallest among \/I, \/I, \/I and \/2 1S :
) 3 4 3
2 1
A) \/g (B) Y
1 1
© \/; (D) 1

el

SPACE FOR ROUGH WORK
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60.

60.

60.

60.

60.

7B AN FALG. 40 TiF P ST, 4 | FAMGE Adw 12 2@ Freed @erre

2

29
(4) 20 (B) 24

(C) 28 (D) 32

w21 R FALG. 40 @R 513718, 4, AW 321 725 #1126y 12 = O Sl @lafeeT ;
(4) 20 (B) 24

€) 28 D) 32

HA IR g.31.491. (LCM) o1 & 40 IR SE@RH .37.91. (H.C.F.) 1 9o/ 4 |
Sfe o AR oA e o BRETRT 12 SR, e o 3EfimET wHAf grered
Y ?

(A) 20 (B) 24

(C) 28 D) 32

Tl T3 T TA.EH.TW. 40 & 37 ITh1 T 6. TH. 4 7 | Al 3§ e o &= 1 3T 12
2, A EEH HI AR :

A) 20 (B) 24

€) 28 D) 32

The LCM of two numbers is 40 and their HCF is 4. If the difference between

the two numbers 1s 12, then the sum of the numbers is :

A) 20 (B) 24
(C) 28 D) 32
SPACE FOR ROUGH WORK
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From Q. 61 to Q. 64 : Choose the correct pair of words which are SYNONYMS to

each other :
61. (A) Emigrant — Immigrant (B) Piece — Pierce
(C) Frugal — Thrifty (D) Irritate — Instigate
62. (A) Rely — Resist (B) Rule — Rue
(C) Secret — Clandestine (D) Site — Sight
63. (A) Deride — Arrive (B) Derive — Divide
(C) Deride — Mock (D) Mock — Praise
64. (A) Citizen — Foreigner (B) Citizen — Emigrant
(C) Citizen — Subject (D) Citizen — Immigrant
From Q. 65 to Q. 67 : Choose the correct pair of words which are ANTONYMS to
each other :
65. (A) Folly — Stupidity (B) Sweet — Salty
(C) Visible — Unvisible (D) Scatter — Collect
66. (A) Advance — Retreat (B) Abandon — Desert
(C) Elevate — Raise (D) Value — Success
67. (A) Acquit— Convict (B) Expect — Hope
(C) Faithful — Loyal (D) End — Finish

From Q. 68 to Q. 73 : Choose the correct options which best explains the meaning

of the given idioms :

68. “To split hairs”

A)
(B)
©)
D)

To quarrel bitterly

To complain about every small detail

To argue about trifles

To study every detail minutely

SLRC-2022/P-I1I/B



69. “Nail the lie to the counter”
(A) To blame a person for something (B) To expose publicly
(C) To investigate an allegation (D) To lie vehemently
70. “To see red”
(A) To be mad with anger (B) To see danger
(C) Sunset (D) To be drunk
71. “To hit below the belt”
(A) To trick the opponent (B) To defeat the opponent
(C) To take bribe (D) To act unfairly in a contest
72. “To beat about the bush”
(A) To prune the bush
(B) To approach a matter directly
(C) To approach a matter in a roundabout manner
(D) To discuss a matter endlessly
73. “Bird in hand is better than two in the bush”
(A) Probability is better than possibility
(B) Certainty is better than possibility
(C) Possibility is better than probability
(D) Probability indicates certainty
74. Choose the correct order to complete the sentence :
I. Ismelled the gas
II.  Door of my house then
III. As soon as
IV. 1 opened the front
A I II III, IV B) ILIIILIV,I
(C) IILIV,ILI (D) III IV,I,II
75. The following sentence is divided into four parts. One of the parts has an
error in it. Read the sentence and find the part containing the error :
“The movement which aims at
@
raising awareness about climate change, hopes
(1I)
to bring people together to think about
(I1I)
what they can do for reducing harmful pollution.”
(IV)
A IV (B) III
(O D) 1II
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76. “For the little boy, a lolly was tangible, whereas a promise was not.”
The word tangible in this sentence means
(A) Basic (B) Untouchable
(C) Actual (D) Edible

77. Which among the following options is correct ?

(A) My thoughts are with the families of those who have lost their loved
ones 1n this unfortunate accident.

(B) My thoughts are with the families of those who has lost their loved ones
in this unfortunate incident.

(C) My thoughts are with the families of those who have lost their loved
ones in this unfortunate events.

(D) My thoughts are with the families of those who have lost their loved
ones in this unfortunate incidents.

From Q. 78 — Q. 80 : Insert the correct options in the blank space :

78. On the moon, air because the Moon’s gravitational field is too weak

to retain an atmosphere.

(A) thereisno (B) where no
(C) no (D) 1sno
79. __ in front of a camera lens changes the colour of the light that reaches
the film.
(A) Placed a filter (B) A filter is placed
(C) A filter placed (D) When a filter placed

80. In 1850, Yale University established Sheffield Scientific School,
(A) engineers were educated there (B) where engineers were educated

(C) 1in which, were engineers educated (D) where were engineers educated
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81. 35 : 6T 3 (S MEA(S A o 16 B3 41l |
(A) 85:9 (B) 64:8
(C) 26:5 D) 120:11
81. (MR TEITIG 35 : 6 UF T© 42PN ©I(J F¥F® ©f fo {5 77 |
(A) 85:9 (B) 64:8
(C) 26:5 D) 120:11
81. TR AN TG ARAG’, S IHSHT HIF-8T 35 : 6 SRed SHGITHT |
(A) 85:9 (B) 64:8
(C) 26:5 D) 120:11
81. U TSI IH 1 93 i fTGH I TEATE IH ThR Ted g 98 35 : 6 7 |
A 85:9 (B) 64:8
(C) 26:5 D) 120:11
81. Select the number pair in which the two numbers are related in the same
way as 35 : 6.
A 85:9 (B) 64:8
(C) 26:5 (D) 120:11
82. Taferire *=rcarq Fhemiearal ol s wxe e ;
(1) TR (2) Y (3) fawme
(4) I (5) fevamist (6) A
A 1,5,4,2,6,3 B) 5,1,4,2, 6,3
(C) 5,4,1,2, 3,6 D) 1,5,2,4,6,3
82. foIy Sraiie *eE Ifeyf @R el s
(1) 9 (2) @ (3) @
4 3@ (5) fwamiol 6) Wl
A 1,5,4,2, 6,3 B) 5,1,4,2, 6,3
(C) 5,4,1,2, 3,6 D) 1,5,2,4,6,3
82. TETE EHTT AIREHIG! fFATHT TR ST I J9T |
(1) S (2) SsEd
(3) BINEHHER (4) 3T
(5) BRI ARY™ (Low Pressure) (6) CEMI
A 1,5,4,2,6,3 B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 D) 1,5,2,4,6,3
SPACE FOR ROUGH WORK
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82.

82.

fferfiaa sreci =i dfeher 3R 7ol vy & sHafeea Hifvw -

(1) wred (2) E3uy (3) daTE

(4) e (5) HH TS (6) e

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3

C) 5,4,1,2,3,6 D) 1,5,2,4,6,3
Arrange the following words in a logical and meaningful order :
(1) Cloud (2) Rainbow (3) Devastation

(4) Rain (5) Low Pressure (6) Flood

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3

C) 5,4,1,2,3,6 D) 1,5,2,4,6,3

83.

83.

I ‘HONESTY’ 3 5132468 5@ Wi ‘POVERTY’ F 7192068 f&5id fordt =3,
(ST G5! (FICUE ‘HORSE’ 7 fe1i23 a7ifara ?

(A) 50124 (B) 51042

(C) 51024 (D) 52014

I ‘HONESTY’ 5132468 201 @141 28 @R ‘POVERTY’ 7192068 B0 @141 =7,
SIE G A ‘HORSE' 5 ©Id @12t i 2

(A) 50124 (B) 51042

(C) 51024 (D) 52014

83. Jf¢ HONESTY @t 5132468 i feReml 3mi POVERTY @ 7192068 S
TS o W@ 3HRT EE! (code) ST HORSE @t Arai foremn 2
(A) 50124 (B) 51042
(C) 51024 (D) 52014
83. If¢c HONESTY &1 5132468 3iX POVERTY &1 7192068 forat wiran 2, df 35t g #
HORSE ! for@n s 2
(A) 50124 (B) 51042
(C) 51024 (D) 52014
83. If HONESTY is written as 5132468 and POVERTY is as 7192068, then in the
same code, HORSE is written as :
(A) 50124 (B) 51042
(C) 51024 (D) 52014
SPACE FOR ROUGH WORK
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84. 200 . == 100 . TR 73 (@IS FRE 20 . / BT oF 22 ./ Glres @5
SGAE ©ICF 91 T R | AW @198 73+ G5! veis 9ife 1, (ST8 9T STLee
o FCe PN A &S 2] ?

(A) 212 Y (B) 135 e
(C) 150 Yy (D) 120 e

84. 200 5 =11 @R 100 RER =73 12 @@ TMISleTeIT I @i EIpee 20 [oF
R &fs ety 22 bR oifets vertz | af (G 736 IaRE @2 iftd B @ G
AP SNOF PICS TS TR #A9[(F ?

A) 212700 (B) 135 01te%
(C) 150 PR (D) 120 TS

84. ToImm S @AW ®IA 200 1. 3 100 . Tiema Ww@mfs T Trafsn SEm 20 fir/A.
IR 22 .78, | Ife Tamfs e v foma @riee, 98 Meamaf 3919 o aiE a@wReme 2
(A) 2129, (B) 1359.

(C) 1504. (D) 1209.

84. 200 HieX 3 100 HreT ol g 2+ A 20 Hey/Tehsg AR 22 Wil /Ahs il ¢ T TR
T T 2 | A I wh A fown =@ W E; 1 3% U g 1 R S H fopa e @ 7
(A) 212 T%s (B) 135 T0%s
(C) 150 &e (D) 120 TS

84. Two trains of 200 m and 100 m long are running parallel at the rate of
20 m/sec. and 22 m/sec. respectively. How much time will they take to cross
each other, if the trains are running along the same direction ?

(A) 212 sec. (B) 135 sec.
(C) 150 sec. (D) 120 sec.
85. IO Ozd FRIERT *[l 2 .M. 77 i T =T ©F e el 9k 8 .54, 3/ |

O fes w9 sEmeT 2 6. e afwaved 4 .M 3R | sreEe o dlewie gk
1 .10, SIfoas 3@ =i 7o) @bt Sofs 23 | o FRIFR I Qb Ie|

TN S 7R 2R
A) 25 M. (B) 13f5.f.
©) 12%f. (D) 17 ..
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85.

85.

85.

85.

el ©F WPl (A @G 2 [Fefe 7fes, 8 feefie o waice, oRem 2 Reefs
R @R SRR 4 [Fefie wiwe e IR | SO O AW e @Iie e 1 efie @6
O SRICT CTRA | SRR S[PT @92 O SIRFGT W04 FALFRSSN AT 799 (aerial
distance) 24 :

(A) 25 fFsfe (B) 13 fFsfs

(C) 12 fwefug (D) 17 Fefws

HiqarET TaH AEgfaHmE e 2 6./, oemn | sfwm e ey 8 km
(fop.f1.) gremmama w2 T35, 731, e S fha @rentr 4 fop. M. et | Sheumma
forn ety fufea 1 fo6. M. emememm maf 7' 3ma gt | Sfvat aegle sm ot 36

TSR TR SR (Aerial) STHATSAT SITER
A) 25 fn.fa. (B) 13 f&.fu.
() 12 fw.fa. D) 17 f&.fm.

e 3794 HETerd @ 2 o5 . qd it 3R =t 2, T 8 fop.fl. 18 37w ofik fse 2 fop o,
7o <l FA 3R R 4 Fo. o, eferor Y 3T =TT ® | 37a g a1d gedl B 3 310 FuTdie
T Tga o foTe 1 o 1. Icrcht B | hicar o rifer 3R 3Heh UEHS o &9 =Haw a5

Tt
A) 25 T (B) 13 f. .
(C) 12 fep.1t. (D) 17 .1t

Kabita walks from her office 2 km to the east, then 8 km towards her right,
then 2 km towards the east and then 4 km towards the south. Finally she
turns left and walks 1 km to reach her apartment. The shortest aerial
distance between Kabita’s office and her apartment is :

(A) 25 km (B) 13 km

(C) 12km (D) 17 km

86.

feriz g2= forsia 630 e e, T G f2riE B e w1 20 e i
& =re Sl | (GeR I i 45 M e femiE e s | 2R Srmm
GRF 16 Ve SR BENHE Iie e i | 3 2R (el T35 IR SR,

(08 DTN ' 511 591 feh1 2'a ?

A) N (B) fmI=

(C) @S| (D) RIS
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86.

86.

86.

86.

fermr gfs eTbtas (movie) BfFE 7T (booked) FCACR TW emi*f© e Batd&
(trailer) If& 77 ©F BRFG I T4 20 e 24 | BaIvocan emi¥fs ¥efbg (trailer) 45
U] #R (3T 5eIM6@ (b (movie) (CATRE | 1211 Beboaic (i 16 e OMW%WI% (movie)
e i@ | I @1 qRk@iE B =90 (booked) FCAMRS ©@ AAIRA (@I e
BEIA G CIRTReT ?

(A) W (B)

(C) R (D) ToRE

T = o wraAi fefoha s S SayA trailer @t fafy fefpa smmmafs = 20 Rt
fegTomamREmH | oo o 9EYTE! trailer fegTom @@ M 45 F 3@ A=A | W
grEagE! SR T aEi 'F 16 @i fogram s | Jfe 99 e @rfa o aayEat
TSN, & YA GIATEH F6l TGN [CgTTR—HH ?

(A) IR (B) wiHeR

(C) twam (D) AR

T 1 weh e o1 feehe o foha fdent dort feehe g i & 20 T Tt SR feharm T o |
o TSt B o 45 Tea a1 8 fhen <@t & | fhem 38 7 9 16 feq weat fefis 6 off 5w
ot o 3 oo 3t oft | T 3 P ot e feefir 28 oft 37 e <R # foe 9%
fopam e

(A) FAR (B) iR

(C) Temm (D) HIAIR

Priya booked a ticket for a movie whose trailer was released 20 days before
she booked the ticket. She watched the movie 45 days after the trailer was
released. The movie was released 16 day before the day on which Priya

watched the movie. On which day of the week was the movie released if she
booked the ticket on Sunday ?

(A) Friday (B) Saturday
(C) Sunday (D) Tuesday
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Q. 87 I 7_I Q. 89 1 : SRS 7Y / 3 / =l vt <5t

87. 5:27:9:
(A) 83 (B) 81
(C) 36 _ (D) 18
Q. 87 to Q. 89 Sf¥® 7Yt / 3¢ / *™t (Hw &7 IR :
87. 5:27:9:
A) 83 (B) 81
(C) 36 (D) 18
Q. 87w Q. 89 fam :
THHERE SHNSH/ERG/AeEE! TR
87. 5:27:9:
A) 83 (B) 81
(C) 36 (D) 18
9 AT 87 | 89 Teh TN TN/ /IT6G 1A I |
87. 5:27:9:
(A) 83 (B) 81
(C) 36 D) 18

From Q. 87 to Q. 89 : Find the missing numbers/letters/words.
87. 5:27:9:

(A) 83 (B) 81
(C) 36 (D) 18
88. AQRD : BRSE :: LMTJ :
(A) MNRK (B) MNSK
(C) MNUK (D) MMUK
89. Bus : Driver :: Horse :
(A) Saddle (B) Rein
(C) Horseman (D) Stirrup
90. (I 9T fqgea AT Eis W%é%& = 27 2PN 104 .1, | fagsGR
GRS "ee qed o
(A) 52 .M. (B) 48 T.1.
(C) 44 T.[. (D) 40 .1J.
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90. M fqgrem A Sl %%i 3R 7 (perimeter) 104 GIBRGE | fagrem
Aoy 1gH =
(A) 52 CIFEDIE (B) 48 TIORGR
(C) 44 TIGRGHE (D) 40 CIGRGE
90. UHY AWM FATERHBRA T3 AT %:%:i I GRS fommn S
104 8.1, | 9 mEnfRrum MearafE sErfRr JemH
A) 524.fa. (B) 484.fa.
(C) 444.f. (D) 404.fa.
90. T FIat ¥ YSAI3T H1 SFITa %:%:i 2 3TN 3aept iy 104 9.1, 7 | Bys o wed st
YR
(A) 52T, (B) 48T i,
(C) 449 (D) 40 F.H.
90. The ratio of the sides of a triangle is %éi and its perimeter is 104 cm. The
longest arm of the triangle is :
(A) 52cm (B) 48 cm
(C) 44cm (D) 40 cm
91. eme Hae fqoed o 7Ry e 4 :
A) 12 (B) 18
(€ 22 (D) 26
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91. I (el b (AIGE fqgred R4 (IS (@ I -

A 12 (B) 18
€) 22 D) 26
91. o HIENTI3TE AIMEY ARG € ?

A) 12 (B) 18
©€) 22 D) 26
91. & E 3mepla § Hrsii 1 T ma i -

A 12 (B) 18
(€ 22 (D) 26
91. Find the number of triangles in the given figure :

A 12 (B) 18
(C) 22 D) 26
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92.

92.

92.

92.

T gt Rlerewl, @it
92 (HAPTIRT e 95 STl eifsfifig F *[1 foaih! bere i -

(A) (B)

©) D)

7% T, QerRl, Rl — €2 ETGTER TEIF TFF TeFoei@ afsiias 1 Bab
oo 54

A) (B)

©) D)

Yl (Classes) B ATEE YR AHIGRET IS ey~ BRUTIIT TFERE AR |

(A) (B)

©) (D)

3G G h! T8 i I e T ol o st=l o G| 1 eliom &9 & GIa1 @ -

(A) (B)

©) D)
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92. Identify the diagram that best represents the relationship among the classes :
New Delhi, Sri Lanka, Asia

(A) (B)

©) D)

Q. 93 T *[ Q. 95 T : FEffrs BIfG! Kvem fofitt ¥ o =ifE AT e =1 «TR61
GIiTS TGS | (15S WG IR KPS el 1 |

93. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q. 93 - Q. 95 : I TS KFER T Rowb AT A KO T T IR | FG G2
N oS =73 2

93. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q.93 wa Q. 95 fam :
TMETE FT His TRTH (options) WWEWWW (Pattern) S T& HIRATET
I F@EA! 7Y el GF BT | & SIeliaTd RIS Tara! iR |

93. (A) 2837 B) 7651
(C) 3925 (D) 9762

e : I T 93 W 95 : Frferiad = fashedi § @ ffF us faoy Y § T g 3R safee
THE 10 & | g & TEe i ey 31 ¢8|

93. (A) 2837 (B) 17651
(C) 3925 (D) 9762

From Q. 93 — Q. 95 : Three out of the following four options are alike in a

particular pattern and hence form a group. Find the one which does NOT
belong to the group.

93. (A) 2837 (B) 7651
(C) 3925 (D) 9762
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94.

225 100

A) (B)

3375 1331
169 289
© 97aa D) Sss2
95. (A) 9 (Emission) (B) @v3q (Pollution)
(C) 7 (Contamination) (D) TeEee9el (Adulteration)
95. (A) fefam (B) el
(C) v (D) TEHEFRe
95. (A) IG2 G (B) TH
(C) T WA (D) |3 T AT
95. (A) IS (B) wguw
(C) <u D) fierae
95. (A) Emission (B) Pollution
(C) Contamination (D) Adulteration
96. e 31’3l bl Io© IS (2 A% T2 | e, (@Ife® AT 7' aAfereq Aes Sz | I
e ST AR | @IS AN AT BMR | TSRS 55 PRI @il f20m 2
A) =9 (B) *Ur=eT
(C) Taifze (D) WS
96. 6T (201 ISP TSTE X ICT IR | TR @IES G2 WEICes 0 IO | I/
TR AN, @IES AR ANV | (F TSR 09 ST I0T0R ?
&) =9 (B) *UreT
(C) wifzs (D) weIfers
96. AT AT Y S SREAT giF | Ufed 10 gafsa Tore 3ot SR |

AT WA ST TR UlgasT G STt TR | 3@ SATTRIIeRE 9
S 2

A gad (B) =™
(C) ufza (D) et
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96.

96.

i oTgh Teh B H Teh gE <hl HTEHT hid gU S B | 311, Ufed 3N Sreshia & i 2 | go,
TS o STS 3N &, Ued, Go % o1 SR | 3797 % 3l <& i 9312 ?

A gud (B) ¥HA

(C) Tfza (D) grefsiid

Five boys are sitting in a circle facing inward. Ajay is between Rohit and
Doljit. Suman is at the left of Shyamal, Rohit is at the left of Suman. Who is
sitting at the immediate right of Ajay ?

(A) Suman (B) Shyamal

(C) Rohit (D) Doljit

97.

97.

97.

97.

97.

GG F ($8F ST 3 I TIeT HF (S8 T (S8 777 TP Sifege | A 3
%99 e (S67 %[@9 T 15 929 2, (S0F (ST QT TGN 7 (202 —

(A) 6037 (B) 513F

(C) 48377 (D) 45 =S

GFG (FIF O A (AF (oo ICTRT I GR O (FER IWOW B 0 7T | IH 3 30T
4 O (RCATE TP 15 9997 =, O O F T 201 F° ?

(A) 603K (B) 5134

(C) 483vW (D) 45 IVW

& "R fofr fafafrgs s 3 @fm o maft feasen g3 4 @ @RE | e
ThaTseTTa SEet SR YW e 15 SR SEisdr, § AEEE S agen snitraese
oY 2

(A) 60 FER (B) 51 &E@R

(C) 48 ¥ER (D) 45 €EER

T 3TTEH 379 Ut & 3 Tt 981 8 3R 310 9 | IR A §ie1 7 | Afg 7 3 9 &g 15 9
18N ST 2, SFhT Toft bl IdHH ST R

(A) 6099 (B) 519§

(C) 4899 (D) 4599

A man is 3 years older than his wife and four times as old as his son. If the
son becomes 15 years old after 3 years, the present age of his wife is :

(A) 60 years (B) 51 years
(C) 48 years (D) 45 years
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98. Jfe7@™ 7 Ilfrl weTs RSl wIF AT q@! AT S6at Wiz wifew | Aoz
IICE @ TSI RICGT ©I29 q1SRICS AR | ARSIR e 19 < wifee ?
(A) B)
(C) Tex (D) “AM6¥
98. ISl G ARS| AFRAIE JI9MCT G S GFGCS 0P QoI SPIR | AR (T9e @
SRS 2R ROR AT SR | AT FAMEE I 0 SR 2
(A) B) &
(C) Tex (D) #If*6x
98. HiaT TR Wfsrarn Biemme foam ariame o gaer=AT SeiaH | |fsrdran i et
Tttty srfaf 3 | afsdren s« forfe arat s e ?
(A) @ (B) EMEST
(C) = (D) @
98. T TR Tlar gore i<l & Th gAY o UTH 31 T8 & | Wlea1 @1 o |t o 918 SR @Al
1 B oft | wferar fopm feam &t 3R 3=g@ oft 2
(A) gféor B)
(C) W™ (D) ufvam
98. Sarita and Savita were coming to each other in the garden in the morning.
Savita saw that Sarita’s shadow was at Sarita’s left side. Which direction
was Savita facing to ?
(A) South (B) East
(C) North (D) West
99. IMaF20% I I b =, TSCSB 20 T b% I INN 2T :
A ad4% (B) ad6%
(C) ad8% D) as10%
99. M a 932 20% b R I 20 €9 b% I 2 :
(A) a9¥94% B) a996%
(C) a49d8% (D) a49910%
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99. Jfg a ™1 20% 31 b S 37T 20 F b% ST FHE ST |

A af4% B) afi6%
(C) afi8% D) af110%
99. g a1 20% b &, A 20 FHI b% TAF & :
(A) a9 4% (B) a1 6%
(C) a1 8% D) a1 10%
99. If 20% of ai1s b, then b% of 20 is the same as :
(A) 4% of a (B) 6% of a
(C) 8%ofa (D) 10% of a
100. 3G TR GFICH! 3 2T rehm w11 @ret 3¢ ACTE @1 et e Zie wiitg ?
4 D (B) W
€ R D) E
100. 3 21 39 I 0 (QTF AT (7th) F @R TH 7 (T AT (16th) BT
R ?
4 D (B) W
€ R D) E
100. TS STEHTAT o« SRAI e fore fuf smtatem fefisme g 2
A) D B) W
€ R D) E
100. 37T JUHTAT BT HIF T &R ¥ T TicTgd IR o 16 § Hidd = W fRya @ 7
4 D B) W
€ R D) E

100. Which letter of the English Alphabet is the seventh from left of sixteenth
from right ?

A D B) W
©) R D) E
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